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N.B. (1) All questions are compulsory.
(2) Working notes should form part of your answer.
(3) Use of simple calculator is permitted.

1. (A) Re-Write the following statements and fill in the blanks (any: 8) i - Fol s 8
(i) Theconceptofhomemadedwmdendssupportstheargumentforlrrelevaﬂceofdwidegd e
policies in shareholders maxlmtsanon : - R 2 .
(ii) studies the percentage relationshlp that each |tem oananCIaI statement
bears to same item in the base year.
(iii) When the correlation co-efficient'is greater than 0, it is correlation
! = (iv) If the insiders starts selling heavily, it is considered as md|cator
\ ’0:_ (v) According to Prof. James E Walterin-the long run share prices reflect only the
) A value of expected dividend: ' :
‘ (vi) The value of-a bond is measured as the present value of all the future
cash flo security.
(vii) The candle®tickfchart is the modified version of chart.
(viii) repr’éthé"r_ﬁafket value of total assets of the mutual fund less total
liabilities. -2 P
(ix) isamea performance of a particularshare in relation to general
movement ofmarket Q
¢ S is the discoun fwhu:h equates the present value of all future
cash flows ofa bond @

(B) Match the cmumn'('anv'?) ="—  & S !

ColumnA : 2 Column B
¥ | Q 1. Yield to Maturity A. Ratid Apdlysis
‘- ) 2. Beta B. Bearish Indicator
‘ 3. P/ERatio C. Systematic Risk
4, Dividend Yield D. Uses Chart
5. Fundamental Analysis E. Bullish Indicator
6. Technical Analysis F. DPS/MPS
7. Returnonlnvestment G. MPS/EPS
8. Return on Equity H. NPBIT / Capital Employed
9. High Confidence I. NPAT/Proprietor Equity
10. Buying High Grade Securities J. IRR
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Y Rate of Return % Rt P Rt I —l
e 1 2 3 4 5 6 | 7 8] S 20 SO o -

SecurityM | 12 | g 7 | 14| 16 | 15 | 48

Security N 20 1 2 | 24| 18] 15| 20 22 [Fas |

(

(B) Tendulkar Ltd's equity shares currently sell for 32

| Market Bl 8| 2|ulnls]a, | 20 18| 230]"

(SD - Standard Deviation)

- Dance More Ltd. Enjoy Life Ltd.
10,00,000 5,00,000
Market Price pér Shfiray R , T 165
10% Debentures ' g [ F5p00000 |- =
15% Debentures - O SREC S ¥ 25,00,000
Profit Before interest and t(( %65,00,000 <93,75,000
Tax Rate | 50% | 50% |

>
Note: All the profit available for distr_ibut'@n
distributed in full. =~ - - Vo

performance of the Sensex if -

(i) Risk Free Return is 5%, Return on Sensex is 15% with a Standard Deviation of 2.75%.
(ii) Risk Free Return is 4%, Return on Sensex is 17% with a Standard Deviation of 3%.
(iii) Risk Free Return is 7%, Return on Sensex is 18% with a Standard Deviation of 4%.

/- per share. The company’s finance

manager anticipates a constant growth of 10.5% and at the end of year dividend of ¥ 2.50/-

per share,

(i) What is the expected rate of return ?
(i) Ifthe investor requires 17%

return, should he purchase the stock ? (Support your
decision with calculation)

[ TURN OVER

BCECF6A83B19137FS98FE6 7F95519303



P e SR R = S e B
S

3. [A) From the following data on three mutual funds find out : 5 : 8 3

{i) Reward to Total Risk and
{il) Reward to Systematic Risk. Also Rank them

Fund Return (%) | Standard De.v“iatfon {(%)_‘ "_‘_Bi\'at_a'_'. ; ; -
Blue Chip 17 153 S S BT S&F S
Pharma 18 6 SO AL ES
Banking 13 8 088 T
Fact : Risk Free rate is 7%
(B) The following are the returns of Share (X) and Market (M) for the last 6 years o 7
Year Return X (%) Retu'r.n'M' (%)
' 17 12
10 10
18 12

4 -8 -9
5 O 6 "5
6 6

(i) What\‘is_'fche total risk of Share and Mafke \

(i) How much is systematic risk of Share ?

OR

*
3. (A) Mr. Anik is planning for making investment in bonds of o?f the companies i.e. either 8
X Ltd. or Y'Ltd maturing at par. The details of these are as @1l

Company Face Value Coupon Rate Maturity Period
X Ltd. ¥ 10,000 6% 5 Years
Y Ltd. ¥ 10,000 10% 5 Years

The current market price of X Ltds bond is ¥ 9,455/-. Find out current market price of Y Ltd s
bond if both bonds have same Yield to Maturity (YTM).

(B) The earnings per share of a company is ¥ 10/- and the rate of capitalization applicabletoit 7
is 10%. The company has two option of paying dividend i.e. (i) 50% or (ii) 75%. Calculate the
market price per share as per Walter’s Model, if it can earn return of (a) 15% or (b) 10% or (c)

5% on its retained earnings.
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4. Fromthe information provided below prepare financial statements for LSK L

4

2016-17 : >
Current Assets 31,00,000
Sales 50% of Sharetiolders Fund
Working Capital 80% of Current Assets

Quick ratio

Gross Profit
Fictitious Assets
Share holders Funds
Cash : Debtors

Share capital : Reserves and Surplus

33 1/3" of Cost

.2d%._.0f__ Current Assets

4. 1Q,fime_s?'g,f Current Assets
i) att e SReE TG

of 10% of Reserves and Surplus)

3:2 (Net profit for current year comp"ri'ses"\

0.5 higher than standard industry rat'IB:"'. S

4. (A) AnInvestors is considering thg__-p_ur_chage__-‘of:the following bond -

OR
Facedlalue % 1,000/-
Calip te 10%

Maturi 4 Years

atfar)
(i) If he wan@d of 12% what is the maximum price he should be ready to pay for ?

(ii) If the bon

s for ¥ 940/- wha;t would be his yield ?

00,000/-in two companies. The estimates of return on

(B) Aninvestor hasdecided to "
shares in companies under four dffferent scenarios as under:

Scenario | Probabill kshay Ltd (%) | Salman Ltd (%)
1 0.20 < a8 16
2 0.25 * / ' 10
= SRC 0.25 -1 30
4 0.30 -4

Ascertain the risk assoclated with each class of the secunty ?

5. (A) Whatis Industry Analysis ? Explain various factors affecting industry analysis.
(B) Discuss the determinants of bond valuation.

5

OR
Write short notes on (any three) :—
(a) Strategic Financial Planning

(b) Importance of Ratio Analysis

(c) Systematic and Unsystematic Risk

(d) Modigliani & Miller approach
(e) Risk Diversification.
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